1 2 3 4 6 | 7 | 8 I 9 10 | 11 12 13| I 14 15 |I |16 I
RevNo | Revision note Date [Signature | Checked
AY 30 MBx10 EARTH (x6) =— - 595 -
— HED / - B 510 N
| ° ° 1 i
] d 2 ® Al 5 P :
% o 55
G = |
= N i
= ol
> | [
o
= i | i
~ X
> & :
! :
1 g 0 [ ol |
& N
) \ I
gl = Y 3 B o a
§ 35 ° 1 = E Q 1 il
= i
g S
\ [
l @ @ I] 0 q
% 2 X
5 ' :
= AW AW ‘ E
3 * = 3
= o~ [
© . Y ' 1
" T l !
e OI 3 ¢ [ . ‘ -
it 1 —
AY % INSIDE_DOOR_VIEW 10
~ ———— 600 . 264 \ I
4(—)— ‘ T ]
M6x20 (x4 ) 514 _ I RN
B 654 o - 314 o
FRONT VIEW SECTION AY-=AY 530
L 627 BRACKET CTRS C
| 562 MOUNT CTRS — M8x16 CS SCREW (x8)
- OPTIONAL MOUNTING BRACKETS 4
J__h ‘$
T o
! o 3 MATERIAL
o T BODY: 1.5mm 316 STAINLESS STEEL
= T DOOR: 1.5mm 316 STAINLESS STEEL
M DEVICE PLATE: 1.5mm GALV STEEL
SEAL: POLYURETHANE
\ s ~
PROTECTION: IP66 IK10, NEMA 4x
SECTION AW—-AW STANDARD: IEC62208, IEC/EN/AS60529
‘ ‘ Itemref |Quantity Title/Name, designation, material, dimension etc Article No./Reference
© I[P ENCLOSURES 2023. - 2 = Designed by Checked by Approved by - date Filename Date Scale
THIS DRAWING SHALL NOT BE COPIED OR REPRODUCED ) P P 30/10/23 PSsI2060%0 | 30/10/23 1:10
WITHOUT AUTHORISATION FROM IP ENCLOSURES.
www.ipenclosures.com.au o DEVICE MOUNTING PLATE Ip l Enclosures 12?:1(::102):;22031655 |E2(ﬁ):05l:z§
1 | 2 | 3 ! 6 7 [ [T 1 v1|7 [T T T 7 10 I K] I 2 13 I 14 I 15 I : 16 -



AutoCAD SHX Text
MATERIAL BODY: 1.5mm 316 STAINLESS STEEL DOOR: 1.5mm 316 STAINLESS STEEL DEVICE PLATE: 1.5mm GALV STEEL SEAL: POLYURETHANE PROTECTION: IP66 IK10, NEMA 4x  IP66 IK10, NEMA 4x STANDARD: IEC62208, IEC/EN/AS60529 IEC62208, IEC/EN/AS60529

AutoCAD SHX Text
AW

AutoCAD SHX Text
AW

AutoCAD SHX Text
AY

AutoCAD SHX Text
IP

AutoCAD SHX Text
IP

AutoCAD SHX Text
IP-SS1206030

AutoCAD SHX Text
IP-SS1206030

AutoCAD SHX Text
30/10/23

AutoCAD SHX Text
1200x600x300 316SS ENCLOSURE

AutoCAD SHX Text
30/10/23

AutoCAD SHX Text
1

AutoCAD SHX Text
1/1

AutoCAD SHX Text
1:10

AutoCAD SHX Text
 IP ENCLOSURES 2023. THIS DRAWING SHALL NOT BE COPIED OR REPRODUCED WITHOUT AUTHORISATION FROM IP ENCLOSURES. www.ipenclosures.com.au

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SECTION AY-AY

AutoCAD SHX Text
INSIDE DOOR VIEW

AutoCAD SHX Text
DEVICE MOUNTING PLATE

AutoCAD SHX Text
SECTION AW-AW

AutoCAD SHX Text
AY

AutoCAD SHX Text
M6x20 (x4)

AutoCAD SHX Text
OPTIONAL MOUNTING BRACKETS

AutoCAD SHX Text
M8x16 CS SCREW (x8)

AutoCAD SHX Text
M6x10 EARTH (x6)


	Sheets and Views
	Model


